ASSEMBLY INSTRUCTIONS ITEM # 60570-63-01/02
UPH COUNTER HEIGHT STOOL

Thank you for purchasing this product. Be sure to check all packing materials carefully for small
parts that may have come loose inside the carton during shipment.

Before You Assemble: Please read all instructions carefully before beginning assembly. It is
recommended that 2 people work together during assembly to prevent personal injury and to
ensure that heavy or cumbersome parts are not damaged during the process.

CAUTION: For your safety, this product requires two people to lift.

PLEASE NOTE: Screws may loosen over time with use and periodically require tightening.

60570-63-01/02 UPH COUNTER HEIGHT STOOL PART LIST

PART DRAWING DESCRIPTION QTY PART | DRAWING DESCRIPTION QTY
H1 @)n»mi)‘mmn‘m» Allen Bolt $5/16" x 40 mm 2
A Stool Back 1
H2 Allen Bolt $5/16" x 50 mm 4
H3 Allen Bolt ¢5/16" x 80 mm 4
B Seat 1
H4 @ Lock Washer $5/16"x$11mm 10
2 H5 Flat Washer $5/16"x$19mm 10
c Left Leg 1
g Hé6 ® Wood Screw 4 x 38 mm 6
H7 Allen Key 4mm 1
D / Right Leg 1
ADDITIONAL TOOLS REQUIRED: PHILLIPS HEAD SCREWDRIVER @
E / Front Stretcher 1
F -‘% Side Stretcher (RIL) 2

N
P
U

COMPLETED COUNTER UPH HEIGHT STOOL ASSEMBLY

For Your Safety!

MADE IN VIET NAM

Page 1 of 3 60570-63-01/02 UPH CNTR HEIGHT STOOL 2PK




ASSEMBLY INSTRUCTIONS ITEM # 60570-63-01/02
UPH COUNTER HEIGHT STOOL

STEP 1 Important:
1. Please lay the Table on a clean, soft surface to assemble.
2. Do not over-tighten screws/ bolts until assembly is completed.

Do not use an impact drill. Please only assemble bolt and washers
with included H7 tool.

STEP 2

PLEASE NOTE: Screws may loosen over time with use and periodically require tightening.

MADE IN VIET NAM

Page 2 of 3 60570-63-01/02 UPH CNTR HEIGHT STOOL 2PK




ASSEMBLY INSTRUCTIONS ITEM # 60570-63-01/02
UPH COUNTER HEIGHT STOOL

STEP 3

STEP 4

U

PLEASE NOTE: Screws may loosen over time with use and periodically require tightening.

MADE IN VIET NAM

Page 3 of 3 60570-63-01/02 UPH CNTR HEIGHT STOOL 2PK




